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Obtain a detailed block diagram representation of the circuit with V, as output and V; as set value. Clearly
indicate on it where to measure Vo , Is ,Ip ,I.. ¢ i Y

£

P: : ) ; s .
b= GP balt] g2 N . PRl
By Cwieds S > HE ol X _ “ ?
- c
5 G e f,gl?s BB .. X Nol) SLEAEEEp ™ |
boplace ’[/va\%ﬁ‘.{w&'\l\'ﬁ:v\ = -
~ \
Tsts) - If(s))r Le () &+
fc@) — I5¢s) Qe

. ¢ Fp+ ‘/SC)

S

Use block diagram reduction @o determine Vo (s) 1V, (s) 1
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Evaluate ¥, (1) when V=107, WQ’ Cp=5uF. e )
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Question 2 a)state appreciable parameter variations and external disturbances encountered by a
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b)The absolute value of the gain 4, of a particular common emitter amplifier is given by 4, = ? ﬁR
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Represent thls_gam  relationship as a negative feedback system. What are G and J;Lmelmt_gﬁggm
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What is the sensitivity of A, with respect of G, hence what are the conditions on the components of G in order
to reduce the sensitivity?.~
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/ Question 3 a)Given Y (s) = &— Cdlculate y(t) using any method you know.
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b) A simplified transfer function of a blcycle s G(si=
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where M and P are positive numbers. Introduce
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